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S0 100 TEERIE 2120 NSO MBI JAEI] 5400 AdH (EH§: 83
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EERERE ot
100 H237E 15,400, 000 15,300, 000 100, 000
120 HEad 7,293, 043 7,088,543 204,500
125 NHET 1,512,925 1,312,925 200, 000
401-1 Al @ Hi 1,504, 500 1.:304, 500 200, 000
DEE $£S3 4d & 3Y (200,000
0 TEEE ZNIEANLE T
200,000,000 » 14 = 200, 000
o (2 H) 100,000, 000
o [ALHY 100,000,000
127 2 FHE 232,674 228,174 4,500
405-1 T &4 H S H| 232,674 228,174 4,500
OF+-SHHS HE SDIH (4,5000
o FUHOEYOH & HAFLUEREE]
18,000,000= - 13,500, 0003 = 4,500
200 M HH 1,890, 206 1,994, 706 2104, 500
S0 HaH 1,890, 206 1,994, 706 2104, 500
811 HHH 1,890, 206 1,994,706 2104, 500
TT
1,890,206, 0003 - 1,954,706, 0004 = 2104, 500






